Exponential & Logarithmic Functions Unit Review

Name______________________
Chapter 7
Honors Algebra 2






Hour______ Date_____________

1. You deposit $3000 in a bank account that earns 3.5% interest compounded semi-annually.

a. Find the balance after 7 years of investing.

b. After how many years of investing would the account hold over $10,000?
2. You want to have $5000 in your savings account after 2 years.  Find the amount you should deposit if the account pays 2.5% interest compounded continuously. 

Solve each equation.
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5. Write 
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 in logarithmic form.

6. Write 
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 in exponential form.

7. Solve
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8. Solve 
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9. Solve 
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10. Carbon 14 (C-14) has a half life of 5,600 years.  An animal dies with 44 grams of C-14.

a. Write an equation to model the amount of C-14 remaining over time.

b. How much C-14 will be remaining after 25,000 years?

c. How many years will it take for the amount of C-14 remaining to be less than 5 grams?
d. What is the answer to part c. in terms of the amount of half-lives?

e. Radium
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 has a half life of 1,600 years.  Talk about the stability of Radium
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 compared to that of C-14.

For Question #11-15, solve each equation.
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16. Expand the expression.
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17. Condense 
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18. In 2014 a town has 3,829 residents.  Every year the population of the town grows 2.25%.
a. Write an equation for the population

         b. When will the town have over 5,000 
of the town.





         residents?
c. What would be the population in 2020?
19. You are trying to decide on the best investment strategy for your retirement.  You choose an investment account that gains 3.75% interest compounded annually.  Here are the two plans you have to decide between.  You work 30 total years.
· Plan A: You deposit $500 every year for the first 25 years and let it ride the last 5 years.
· Plan B: You start depositing $2000 every year for the last ten years of work.
a. Which plan would give you more money for your retirement?  Discuss the pros and cons of each plan.

20. 






b. Write an equation for the phone’s value.

c. After how many years would the phone be worth less than a dollar?
a. How much did the phone cost?


     




































# of years after purchase�
Value of a cell phone�
�
2�
$147.88�
�
4�
$62.48�
�
6�
$26.40�
�
8�
$11.15�
�
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